Trigger on piss without muons (120 GeV)
piss > 200 GeV
At most 2 jets with pr > 30GeV
Leading jet pr > 80GeV
Leading jet || < 2.4

Jet and piiss selection | Agp(pimiss ﬁlfadmg | > 1.5
‘A(P(ﬁ{"niss, ;_j?[ub—leadmg]et” > 0.75

No jets identified with b-tagging algorithm
Pass piss cleaning filters
Pass HEM veto

1 — PFMET/CaloMET| < 1

At least two identified displaced muons
Muons opposite charge
Vertex x?/dof < 4 (pick lowest)
AR(upu) < 0.9
3D angle a,,,, > 2.8rad (or cosa > —0.94)
Ag(Fp=, Bi)] < 05

Dimuon selection

0 matched muons (+ min(dy,, d5,) > 3 cm)

Signal region categorization 1 matched muons (+ min(d;?y, dfy) > 0.02cm)

2 matched muons (+ min(d;?y, d,lfy) > 0.02cm)




